M712(NET)-AHIZ(NEP) 100CH MEFESR

=
=

il

58 MyaAze

olgfy Mz=2%

XtMIC S = EX(6)

H7|xt/5t0[2E| E

F7|kl/8H0| 22| E Qlmal/MH|A

AOHEF}

ADIE R 2| E|

2L I| KX}

TaTI|HESA QlZat/AH| A

c 2(2017))

43250 F
ALK
xE7| K R E

D27 #EXNZ(©2)

oj &

7|58 L= YAt

CHo | s Xl (4
StO|IH E2fAE
A|:||.EEH9|II
o228 HSME(LHHE)
HFO| 2 A XH (2)
=gt BN
FHER
S Q)
ADEYR

M-S of| LA X (4)

—

T2 HX|(YLh2E MEAIE

EH 2F T K| (3MITH)




il oH o) ~
= 7 3
o0 | < = il
| d - pll
_ — s OF: — ) B
"3 |3 ul - I ul | Ko 5 M) e o | M = ol
B | =L wn — | Tl = =| | OfF o0 = |=| nmn T i N o KIr
e R o e B T T U D = i B ) e e e e S e P = L
eSS F A A R P AR FA I A A LR P S e LA EA S
e = U (e el R ol g el T R o I i e O I N R R B I i
e e e e g e T S i o T I 0 ] Il g g - e ST e i S R I
o e - I I = = ol = T S R T R L I O R e e T B = Y B B=all =
ol K |= _Au__u RS RED ol I IRA Y - ol g [F[(2ID| S (RE<0]T (v |al®
Rl 5 == - i DL == ol = I - = | a7
w2 T 2413 | R I | = <l bl i Nl U e e ke gl | o | o
A E T =< [ T e 70
o0 | X0 = ol K Kl
T | B 1 2 BK
= o
<+ S 5 8 D s |F|l<
= 3 = D % F ) =) W=
or 0 70 pa = = = Y EN gl L]
Hio - obu =1 HO < 101 = <] K
= o e w| = H ol > i
) K 1o RO = 0 70 180 il =
IH I K o < B il iy 415 x
ar = i vl oK O K|l 5
R4 =) <| &
ok




Kd
N

ol

o4 1| A4 K] 2 AF
2|5t

CIX &

n
<
N
ofl

]

fofu

2| O] X

0o
<fu

ALO| B £ 2t

o

Ho
ol

(HCI)

oa

OIESFAIA

ol
Bl

10

oI

glHolH

100

(=13
=

H

AE EH S (loT, M2M

(V2X)

F

ADFEA|E|

3

H0
K]

OLED(LED)

Ch3)

—

KRMICHE

2T EL0{(1)

©)

T
IH

A

| Of &

Xsd

| BIC|0(4)

.I

KEAICH

B0
K]
70

Jjo




{012 = ElBHol2(2)

KRMIEH HEEH|(3)

KM ER/EQ)

oy
N

A

o

r

1A (4)

3K+ O] O] K| HIA

A &

XX 7=

HFO| @ Al Af

M| X[ (5)

AR 914

ADFE A

AM st

HELSHAK| YA A

HIESZLHY

oH
o
R
A4
o
S

2} O[ I (LIDAR)

MAIZH IRIFERA A




